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(:tht"’ 18: Index Numbers

fndex Numbers Theory Questions
PYQ May 18
| Time reversal and factor reversal are:
0 o Quantity Index
p. Ideal Index
¢.  Price Index
4. Test of consistency
PYQ May 18
@ A series of numerical figures which show the
relative position is called
a.  Index number
b.  Relative number
c.  Absolute number
d.  None of these
: e PYQ May 18
(3)  The number of test of Adequacy is:
&2 b. 5
%3 di5d i _
(R e - PYQMay
(4) P, is the index for time :
a. 1on0 b. Oonl &
c.- “doni d. Oon
(5)  The circular test is an artenswnof
0. Thetimereversaltest =
b.  The factor reversal test b
¢.  The unit test
d. None of tha;s W
By A PYQ May 18
(6)  Price — relative is expressed in term of
a. 'Y b. P,
e 2
¢ pBio % p-tex100
4 PII
i PYQ May 18
(7)  Circular test is satisfied by
a.  Laspeyre’s Index Number
b.  Paasche’s Index Number
<. The simple geometric mean of price
relatives and the weighted aggregative
with fixed weights
d.  None of these

PYQ May 18

The multiplicative time series model is (from
Time Series Topic — deleted from syllabus)

@

a, y=T+S4CH b Y= TSCI
c.  y=atbx d. y=a+bx+cxz
PYQ Nov. 18

©9)  Which of the following statement is true?

4. Paasche’s Index Number is based on the
base year quantity

b.  Fisher's Index Number is the Arithmetic
Mean of Lasperye’s Index Number and
Paasche’s Index Number

¢, Arithmetic Mean is the most appropriate
average fo¥ constructing the index
numbef .

i Fishet’s Index Number is an Ideal Index

Number
Fo N Y PYQ Nov. 18
The simple average method is used to calculate

(Titne Series Topic — deleted from syllabus)

a - Trend Variation

' Cyclical Variation
Seasonal Variation
Irregular Variation

b
.
d
' PYQ Nov. 18

The sale of Cold Drink would go up in summers
and go down in the winters is an example of

(12)

a.  Trend Variation
b.  Cyclical Variation
c.  Seasonal Variation
d.  Irregular Variation
PYQ June 19
(12) Which is called an ideal index numbers
a.  Laspeyre’s index number
b.  Passche’s index number
c.  Fisher’s index number
d.  Marshall Edgeworth index number
; e PYQ June 19
(13)  In semi averages method, if the number of
values is odd then we drop:
(Time Series Topic — deleted from syllabus)
a.  First value
b.  Last value
c.  Middle value
i Middle two value

CA. Pranay Popat
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(14)

(15)

(16)

(17)

(18)

19)

20)

— - n——

PYQ June 19
Which is not satisfied by Fisher’s ideal index
number?
a.  Factor Reversal Test

b.  Time Reversal Test
¢.  Circular Test
d.  None of these
PYQ June 19
Trend in semi average is:
(Time Series Topic — deleted from syllabus)
a. Linear b. Parabola
c.  Exponential d. None of these
PYQ June 19
The most commonly used mathematical method
for finding secular trend is
(Time Series Topic — deleted from syllabus)
a.  Moving average
b. - Simple average
¢.  Exponential
d.  None of these
PYQ Nov. 19
When sale of cold drink increases in summer and
decreases in winters is an example of?
a.  Seasonal variations
b.  Cyclic variations
. Secular variations
d.  None of these
Seasonal variations take place,
(Time Series Topic — deleted fi
a.  Oneyear b.
c.  Half year /., d. Fwe "years
w@k%* . PYQNov.19
1 1ot satisfy:
a. ercularjggg,stq.,‘_‘t
b. Time reoerqd«tpst
c.  Factor reversal test
d.  Unit test
: . PYQNov.19
In serm-average method tf the no. of values is

odd, we exclude:

(Time Series Topic — deleted from syllabus)
a.
L

First value
Middle value

b. Last value
d. None of these

CA. Pranav Popat -
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PYQ Noy, 20
1) Fisher's ideal index number does not satisfy
a. Circular
b, Time reversal
¢.  Factor reversal
d. Unit
PYQ) Now. 29
(22) Index numbers are expressed as
a.  Squares b. Ratio
¢.  Percentages d. Combinations
PYQ Jan, 21
(23) The cost of living index is always
a. Price index number
b.  Quantityindex number
c Weighted index number
d Value index number :
Z : PYQ Jan. 21
(24)  Fisher's index number does not satisfy
a. - Unit test
G b. ;v Circular test
"¢ Time reversal test
d. Factor reversal test
PYQ Jan. 21

‘When the prices for quantities consumed of all
commodities are changing in the same ratio, then
the index numbers due to Laspeyre’s and
Paasche’s will be.

a. Equal
b.  Unequal
¢.  Reciprocal of Marshall Edge worth Index
Number
d.  Reciprocal of Fisher Index Number
| " PYQDec.21
(26) If P, and P, aremdexforlonOandOonI
respec then formula P, x P, =1 is used for
a. Unit test
b. Time Reversal Test
c Factor Reversal Test
d.  Circular Test
P e PYQ Dec. 21
27) The wezghted averaged of price relatives of
¥ commodities, when the weights are equal to the
value of commodities in the current year,
yields index number.
a.  Fisher’s ideal
b Lasperey’s
C.  Paasche’s
d.

Marshall-Edgeworth




i Index Numbers

PYQ Dec. 21

PYQ Dec 22

jndex numbers are not helpful in (36) Which of the following index measures the
@ o  Framing economics policies >  change from month to month in the 'COSt of a
p.  Revealing trend representative basket of goods and services of the
¢.  Forecasting type which are bought by a typical household?
d Identifying errors a. Retail Price Index
PYQ Dec. 21 b. Laspeyre’s Index
9 The three index numbers, namely, Laspeyre, C Fisher’s Index
Paasche and Fisher do not satisfy test. d. Paasche’s Index
o  Timereversal  b. Factor reversal : PYQ Dec 22
C Unit d. Circular (37) Fisher’s index number is called as ideal index
PYQ June 22 number because it is satisfying
(30) Geometric mean method used in which index a. Factor reversal test
number to find it out b.  Time reversal test
a.  Laspeyre's c Both factor and time reversal test
b.  Paasche’s d. Circular test
¢.  Fisliers index number - R PYQ Dec 22
d.  None of these 4 (38) In price index, when a new commodity is
: SPanie ~ PYQ June 22 required to be added, which of the following index
(31) Which test is known for shift base index no. - isused?
a.  Factortest 4 Shifted price index
b.  Unit test b. " Splicing price index .
c.  Circular test ¢ Deflating price index
d.  Time reversal test d. Value price index
— PYO T (s PYQ Jun 23
(32) Laspeyre and Paasche do not satisfy - = Which of the below index is computed by taking
a Unit test the average of base year and current year?
b Factor test a.  Marshall-Edgeworth index
c. Time reversal test b. Paasche’s Index
d.  Bowley’s test c. Laspeyre’s Index
W R d.  Fisher’s Index :
(33) Laspeyre’s index number 1s based on Lk s e b bt e PYQ Jun 23
a Last year weight (40) Weighted geometric mean of relative formula
b Present year weight satisfies _ test while Factor Reversal
¢ Last yearvalue test is satisfied by :
d.  Present yegnpalue a..  Time Reversal, Fisher's Ideal Index
: $ PYQ June 22 b.  Time Reversal, Laspeyre’s Index
(34)  Price relative is- c.  Factor Reversal, Paasche’s Index
R T b. P d.  Factor Reversal, Fisher's Ideal Index
o . PYQ Dec 23
s di B IP (41) An index number constructed to measure the
N ST PYQ June 22 relative change in the price of an item or a group
35) Which one Of the following is not appropriate Of item is called:
for calculation of index number? a. Quantity index number
a.  Unit test b.  Price index number
b.  Price relative test ¢.  Volume index number
¢ Circular test d.  Composite index number
d.  Time reversal test

e ———————— T ————— e



“42)

43)

44)

45)

“47)

“48)

— RS mp— The total S of the values of a given
PYQ Dec 23 b. year itiplied by the sum of the valyes
1 ooy does ot satisfy following test o f the base year .
f - ;:Za:ﬁt : o \ (”;{he total sum of the values of a given
p.  Time Reversal test 5 par divided bY the sum of the values of
c. Circular test the base year / ;
4 Factor Reversal fest i The total sum of the vatues of a given
PYQ June 24 . year minus the sum of the values of the
The average of base year and current years is used pase year
in index number PYQ Sep 24
e 9) Which one of the following test of ‘;de‘?"“cy_is
b. Paasche’s concerned with the measurement of price
c.  Fisher'sideal . changes over 4 period of years, when it is
d.  Marshall-Edgewort PYQ June 24 desirable to shift the base?
a Time Reversal test
What index number formula satisfies both the . $5e, s
time reversal and factor reversal tests? b. .m _
3 23 dﬂd 'ndex C: Ctrculm' tﬁt
: F[ s ; ”d:x 1. Factor reversal test
c.  Paasche’s index | ‘:? N ‘”Zw : &y v
& Marshall-Edgeworth index 41 % i
: ; PYQ June 24 4 a 5 a S
What of the following is not a test of adequacy in . . 8 b 12
the context of index numbers? L 11 % e
i c 14 ¢ 15 a
b 17 a 18 a
a 20 ¢ 21 a
c 23 ¢ 24 b
a 26 b 27 %c
d 29 d _30ac
c 32t 33 a
a 35%h 36 a
¢ 38 a 39 a
a 41 b R0
d 4 a 45 b
46 b 47. w6 %3 48 ¢
‘ . 15N . 49 c :
Time reversal test is satisfied by: s
a.  Paasche’s method but not Laspeyre’s
meM hl‘il‘(‘\ \.li’ﬂz?i‘r»{ I?;(&i;?; int‘ﬁf.’-(”f.“
b.  Laspeyre’s method but not Fisher's T
;:nethod ; Mock Test Paper Questions
c. isher’s method R SR
d.  Lasperye’s method and Fisher’s method - gg)’ﬁ?h%a*&@ e
rusiTah v»{,l?b‘u'{) = HQSCPM i3 s satISﬁed f P‘.X PbX P“ = 7/
The value index is equal to: a.  Time reversal test |
a.  The total sum of the values of a given b. Factor reversal test .
year plus the sum of the values of the c Circular Test
base year d.  noneof these
CA. Pranav Popat | MC i r i E——————— g
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/ 7 Index Numbers
MTP May 18 MTP May 19
n T e number of tests of Adequacy (8)  Laspeyre’s method and Paasche’s method do not
a. 2 b. 3 satisfy
¢ e d 5 a.  Unit Test
MTP Nov 18 b. Time Reversal Test
0) Fishers’ Ideal Index number is C Factor Reversal Test
a.  The median of Laspyre’s and Paasches d (b) and (c)
Index numbers MTP May 19
b. The Arithmetic mean of Laspyres and (9)  Fisher’s index number is based on
Paasche’s Index numbers a. The Arithmetic mean of Laspeyre’s and
o The geometric mean of Laspyres and Paasche’s index numbers.
Paasche’s Index Numbers b. The Median of Laspeyre’s and Paasche’s
d.  None of these index numbers
MTP Nov 18 ¢ The Mode of Laspeyre’s and Paasche’s
(4)  Fishers Ideal Formula satisfies index numbers.
(1) Unit Test d.  TheGM of Laspeyre’s and Paasche’s
(2) Circular Test © index numbers. '
(3) Factor Reversal Test © il N MTP May 19
(4) Time Reversal Test (10) _Purchasing Power of Money is
a. land2 b. 1,3and4 a  Reciprocal of price index number
c. land 3 d 1,2and3 b Equal to price index number.
e ki st CMTPNov 18 4 c. ‘ - Unequal to price index number.
(5)  While constructton of Index numbers which of & B None of these. ;
the following has to be considered as point .of 4 MTP May 19 Series IT
reference in company various data desc_xilﬁ' 1) Chain index is equal to
individual behaviour ! ' a.  Link relative of current year
: : — x100
a. Selection of weights Chain index of the current year
b Base Period N i 2 :
c Selection of Formulae_ ... A ; o LK rel;gge = x Chain index of CY
d W, : ; :
Choice of variables ¢ MIPNov 18 c¢. Link rel:;tozze of CY s« Chiistindex of PY
6)  Whichof the optlons does not contam the proper ; ;
¢ useof Index numbers , Bomiint rel;tgge S PY  Chain index of PY
a. Helpful in pohcy‘detennmatwn s  MTP May 19 Series Il
b. Useful in F orecfzsting %y (12) The formula should be independent of the unit in
c.  Equally useful'in all condition for which or for which price and -quantities are
different purpose quoted in - '
d. Helpﬁd in comparzson 7 Uittt test
 MTPMay 19 b.. .  Time Reversal Test
@ Wetghted G M of relatwe formula satisfy A e e
—fest d.  None of these
a. Time Reversal Test
b. Circular test
C Factor Reversal Test
d.  None of these

C
° Conw:.r aumtltatlve Aptltude Edltlon 4
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MTP May 19 Series II/ MTP Sep 24 11

The formula for conversion to current value
a. Deflated value =

Price Index of the curreni year

previous value
b. Deflated value =
current value
Price Index of current year

c. Deflated value =
Price Index of the previous year
previous value
d Deflated value =
Price Index of the previous year

previous value

: .MTP Nov 19"
Circular test is the extension of
a. Unit test
b. Factor reversal test
C: Time reversal test
d. None of these
Unit test is not satisfied by
a. Fishers Index number
b Laspeyers Index number
C. Simple Aggregative :
d.  Bowleys Index number ..

b o
c Both(a)&(b)
d

None of these
ey Kt ,Ml’PMayzo
Fisher’s ideal index number is
a. The Median of Laspeyre’s and Pagsche’s
index numbers
b. The Arithmetic Mean of Laspeyre’s and
Paasche’s index numbers

c. The Geometric Mean of Laspeyre’s and

Paasche’s index numbers

d.  None of these

CA. Pranav Popot "

MTP Noy 3
chasing Power of Money is
Reciprocal of price index number
Equal to price index number
Unequal to price index number

None of these

(19) Pur
a.

b
C.
d

MTP Noyp

(20) Factor reversal test is satisfied by

a. Fisher’s ideal index number

b. Laspeyre’s index number
c. Paasche’s index number
d All of the above
MTP Nov 29
(1)  The number of tests adequacy is
a. 2 . b 25
C: 3 , d 4
; MTP March 21

(22) Fishers Price Index number is equal is
a. G. M of Kelly’s Price Index number and

- Paasche’s Price Index number
“b..  G.M of Laspyres and Paaches Price

" Index number
G.M of Bowley’s price index number and
Paasche’s Index number.
None of these

. MIPApr
(23) Purchasing power of money is
a. Reciprocal of price index
b.  Equal to price index
¢. . Unequal to price index
d..  None of these
Vol ATy - MTP Nov 21

(24) WhtCh is callaf an tdeal( mdex number
a. Laspeyres Index number

b. Pasches Index number
C..  Fishers Index number
d

Marshall— Edgeworth Index number
PR A A MTPNov21
The circular test is an extension of i<
a. The time reversal test
b. The factor reversal test
C The Unit test
d.  None of these




(26)

27

28

29)

(30)

@31)

(32)

[ Index Numbers

MTP Nov 21
Circular test is satisfied by
. Laspeyre’s Index number 33)
p.  Paasche’s index number
C The simple geometric mean of price
relatives and price relatives and
weighted aggregative with fixed weights.
d. None of these
MTP Oct 21 (34)
satisfies circular test
a. G.M. of price relatives or the weighted
aggregate with fixed weights
b. A.M. of price relatives or the weighted
aggregate with fixed weights
c H.M. of price relatives or the weighted
aggregate with fixed wetghts (35)
d.  none 2
S0 : : . MTP Oct 21
Laspeyres formula does not satisfy
a. Factor Reversal Test
b. Time Reversal Test
C Circular Test
d All the above
; MTP March 22
Index numbers are not helpful in
a. Framing Economic Policies
b Revealing Trend
C Forecasting
d Identifying errors

_ MTP March 22
The wetghted average of price relatives of
commodities when the weight is equal to the
value of commodities in  base year yields
____index number
a Fisher’s Ideal
b. Laspyres
c Paasches
d Marshall-Edgeworth

(37)

38)

MTP June 22
The number of tests of Adequacy is
Ty g b. 3
.0 A4 d. 5

MTP June 22 (39)
Fisher’s Ideal formula for calculating Index
number satisfies the
a. Unit Test

b. Factor Reversal Test

C Time reversal Test

~
3 °°"'N-r - Quantitative Aptitude Edition 4

d.  All of these

MTP June 22
Purchasing power of money is
a.  Reciprocal of Price index number
b Equal to Price Index number
(e Unequal to Price Index number
d None of these

MTP Dec 22 — Series 1
The Circular Test is known as:
P, xP, %P, =1
P, <P, xP, =1
Py, x P, xFy, =1
P,xP,xP,=1
. MTP Dec 22 —Series I
Laspeyres mdax number is a weighted aggregate

method by taking _ as weights.
a. .« Thequantity consumed in the base year

f TR 2 R i

b. . Thequantity consumed in the current

&0 B
¢, Value of items consumed in the base year
d. - Value of items consumed in the current
year

MTP Dec 22 — Series I1

* Which is not satisfied by Fisher’s Ideal Index

Number?
a. Factor Reversal Test
b. Time Reversal Test
C! Circular Test
d None of these :
MTP Dec 22 Series I

The number of test adequacy is
a. 2 Sy
C 3 d 4

, MTP Dec 22 Series II
Laspyers method and Paasches method do not
satisfy
a. Unit Test

b Time Reversal Test
c. Factor Reversal Test
d Both (b) & (c)

 MTP Dec 22 Series IT
Fisher’s index number is called as ideal index
number because is in satisfies.

a. Factor reversal test

b Time reversal test

) Both factor and time reversal test
d Circular test




Index Numbers
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MTP June 2023 Series 1

(40) Which index measures the change from month to
month in the cost of a representative basket of
goods and services of the type bought by a typical

household?
a. Retail Price Index
b. Laspeyre’s Index
c. Fisher’s Index
d. Paasche’s Index
MTP June 2023 Series I
(41) In price index, when a new commodity is
required to be added, which of the following index
is used?
a. Shifted price index
b. Splicing price index
C. Deflating price index
d Value price index
MTP June 2023 Series I
(42) Which test should be considered necessarily to
verify the consistency while we select an
appropriate index formula
a. Circular test
b. Time reversal test
c Factor reversal test
d. Bothband c
(43) Circular test is satisfied by which of th?fv

index?
a. Laspeyres index

b.
C.
d

b ¢
C Equal to the przce index number
d

None of these
MTP June '2023 Series IT
(45) Fisher’s method of calculating the index number
is based on the
a. Geometric mean
b. Arithmetic mean
2 Harmonic mean
d None of these

CA Pranav Popat | MCO Compller aumﬂtaﬂvo Aptltudo Edﬂon 4 .
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MTP Dec 23 Series I/ MTP Sep
(46) Fisher index number 1175 ___ofLaspyresand
ex Number
‘I:aaschf: Ilad e
C. HM d. None of these
i MTPDec20235eﬂesI/MTPsepI
47)
a. Laspeyres index
b. Paasche’s index
¢ Fisher’s index
d Simple geometric mean of price relatives
MTP Dec 2023 Series [
(48)  The cost of index number is always
a. Price Index number
b.  Quantity Index number
c Weighted Index number
d ' Value index number
MTP Dec 2023 Series I
49 Fzshar s zdeal formula for calculating index

number satisfies the _
0o, Until Test

b. = Factor Reversal Test
Both (a) and (b)
None of these

|
Circular test is satisfied by which of the below?

o A4t

' . MTP Dec 23 Series I
(50)  Shifted Przce index =
Original Price Index
Price Index of the year on which it has to be shifted o
a. True b. False
o c.‘ % Partly True d. Partly False
- MTP June 24 Series I
(51) The number of test of Adequacy in Index
numbers:
AV o 9.3
gty 4 5 ,
‘ j Y ImidSeﬁwI
(52) Ctrcular Test is satisfied by: |
a. Paaschg s Index Number |
b.  The simple geometric mean of price ‘
 relatives and the weighted |
 aggregative with fixed weights ‘
c. Laspeyre’s Index Number
bl Lo “gim None of th@e ey ‘

=

(53) Consumer prwe index is commonly known as |
a. Chain Based index

b Ideal index

e} Wholesale price index
d.  Cost of living index.




|

MTP June 24 Series 11
o —— is an extension of time reversal test.
Factor reversal test
Circular test

a
b.
C. Unit test
d

None of these
MTP June 24 Series I1
55) Fisher's method for construction of Index
Numbers uses
a. Geometric Mean
b. Harmonic Mean
[ Median
d HM
 MTP June 24 Series I11
56) The_____is satisfied when P, xF xP =1
a. Time reversal test
b.  Factor reversal test
c. Circular Test
d.  none of these
| MTP June 24 Senes m
(57) The number of tests of Adequacy
| a. 2
c ~und d. 5
- MTP June 24 Series 111
(58) The tests of shifting bases are called __ .
a. Unit test
b. Time reversal test
C. Circular test
d.  none of these o
: MTP ]unc 24 Senes I
(59) Purchasing power of money 15  stated as
price index?
a.  Equalto b < Unequal to
“ Reuprocal of ~d. Noneof these
MTP June 24 Series i

‘(60) When the product prnce index and the quantity
index is equal to the corresponding value index

then the test that holds is
a. Unit Test b. Time Reversal
Test
c Factor Reversal ~d. None of these
Test _
l AnswerKey
g 2ol 3 ¢
4 b 5+-b 6 ¢
7 a 8 d 9 d
10 q Jq&C 12 a
13 b 1840 15 ¢

\ ‘
 Compiler - OummaﬂvoApﬂtudoEdIﬂoml

| Index Numbers

16 b 17250 18 ¢
19 a 20 a 21 d
22l 23 a 24 ¢
25 a 26 ¢ 27 a
28 d 29 d 30 b
3il¥c 32 d 33 a
34 a 35 a 36 ¢
3vd 38 d 39 ¢
40 a 41 a 42 d
43 d 4 b 45 a
46 b 47 d 48 ¢
49 ¢ 50 a 51 ¢
52 b 53 4d 54 b
55 a 56 ¢ 573 ¢
58 ¢ (/5 60 c

59

cnhiers Practical Questions

4 PYQ May 18
If 2P Q,, — 1360, ZPQD =1900 LPQ, =134
' YP.Q, =1880 then Lasperey’s Index number is
a . 071 B 139
c. 1.75 ~d.  Noneof these
PYQ May 18
2 I the 1970 index with base 1965 is 200 and 1965
¥  index with base 1960 is 150, what will be the

index of 1970 on base 1960?
a. 700 b. 300
c 500 d. 600

S PYQ Nov. 18
3) If Laspeyre s Index Number is 250 and Paache’s
Index Number is 160, then Fisher's Index

number is
a. 40,000 b. 25/16
¢ 0000 d 16/25
Bt Mol K PYQ Nov. 18

@ If Zpoqo—240 Zrﬂ1—480 > Pid, =600
A and Y pq,=192, then Laspeyre’s Index

Number is
a. 250 b. 300
G: 350 d. 200

CA. Pranay Popat
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Index Numbers | (;"
- e ' St PYQ July 21
PYQ June 19 tive price index turnover
e d aggregative P
(5)  The prices and quantities of 3 commodities in (10) The weighted a88 00 as the base year using

for 2001 with 20

S . ears are as follows:
base and current y fi ke 9k Nambenie 1
PR Quantztzesﬁ

In2) = P9
|l P % | @ Qﬂ"—"ﬂ% 2001|2000 2001
12 14 10 20 ;‘—’/E 12 20 22 .
10 8 20 30 - 3 8 16 18 3
g | 10 | 30 [ 10 = N (U el |
T i 4 4 7 8
The Laspeyre price index is D 4
w2813 b, 107.14 o 11232 b, 11238
G 120.10 d. None of these c 112.26 d 112.20
PYQ June 19 PYQ July 21
(6)  The cost of living index numbers in years 2015 (1)  If in an additive model O refers to original data
and 2018 were 97.5 and 115 respectively. The as 875, T refers to trend 700, S refers to seasonal
> salary of a worker in 2015 was  19500. How variations =200, C refers to cyclical variations 75
much additional salary was required for him in " then the value of 1 which refers to irregular
2018 to maintain the some standard of living as variation is:
in 2015? e O 100 bisos170
o 3000 b. 4000 N, d. -150
c. 3500 d. 4500 ¥ PYQ July 21
» PYQ Nov. 19 (12) The weighted aggregative price index turnover

(7)  The index number of prices at place in the year o
2008 is 225 with 2004 as the base then there is:

for 2001 with 2000 as the base year using
" Marshall Edgeworth Index Number is:

a. 125% i 1.ncrease b. 225% increase Commodity|Price In (3)|Quantities
C. 110% increase  d. 25% increase 200012001 1200012001
PYQN"” 2"1 A |10]12]2]22
©®)  In Laspeyre’s index number is 110 und Fxshers B P)
ideal mdax number is 109. Then Paasche’s mdex o i
_ E 5 6" 110 11
D 4 4 7 8
a. 112.26 b. 112.20
& 123 - d*Y97713g
©) : w0 | PYQ July 21
| hef‘base year using (;3) The consumer price index goes up from 120 to
Fisher's Index Number is: 180 when salary goes up from: 240 to 540, what
Commodity | Price (In 7) Quantity is the increase in real terms?
2000 | 2001 | 2000 | 2001 s b. 150
A 0 |2 [ 20 | 2 e —__ a2
B B e TR o s '~ PYQDec.21
C 5 6 10 11 (149) F 2‘;’" the following data base year:
D 4 4 7 3 wimodity pr_Base Year Current Year
a 319 b. 11220 A 5 L Prie | Oty
¢ "3 d  126.01 B 5 ; : i
= 4 2 9 2
—D 2 3 1 5
Fisher’s Ideal Index i ‘
a.  117.30 b 11543
el 1345 d. 11648




; [ Index Numbers

PYQ Jun 23
Consider the data (21) If the prices of all commodities i.n the base year
(5 are twice the values of the respective comr;zlodz;t:;
Base year Current year . i ‘e 1 n
’C-;n%%ﬂ Price éuanh'ty Price Qiantity in the Cu_"ent Y ear: then i Fnens e
a 0 5 20 > number is equal to:
B 15 4 25 8 a. 200 b. 50
T 40 2 60 6 C. 400 d 25
=D 25 3 40 4 PYQ Sep 24
re’s index is (22) The consumer price index for the year 2023 is 273
a. 166.04 b. 16640 with 2010 as base year. The average monthly
c 164.04 d. 1644 wages of industrial worker in year 2023 is
PYQ Jun 23 78,190. What is the real wage?
16) The index number of prices for a country at a i % 3,000 b. 22,800
given data is 250. In comparison to the base . 73,200 d. %3,400
period price, the price of all commodities in the : R i, Y PYQ Sep 24
country has increased by ___ times. (23) During acertain period the cost of living index
a. 125 b. 15 s goes up from 110 to 200 and the salary of a
= 2 d 25 worker is also raised from T 330 to 500, then in
. PYQ Jun 23 _thereal terms, the raise in salary is effectively-

. Gainby 75 b. Gain by 350
Lossby 290  d. Lossby 250

(17) If Fisher's index number is 160 and Paasche’s
index number is 140, then Laspeyre’s index

a. 147.77 b. 18285 b 2 b 3 ¢
c. 18335 d 14625 Y 5 b 6 ¢
o a 8 d 9 a
(18) The gross monthly pay of an em d 1178 12 a
15,000 in a year 2020. The consumer pr. c 14 a 154 a
employee is to rightly compensatiﬁz’_;gr}!ht dearness 19 ¢ 20 a 21 b
allowance is required to be patd? y N4 2 a 23 d
a. Z 8,000 b. %8250
c %8500 d. 38750
o - PYQDec23 Index Numbers Practical Questions

(19) If the Laspeyré’s index is 110 and Paasche’s

index is 108, then what is the value of Fisher’s

index? e
¢ 10650 " b 107.6 S — MI® My 13
5 1060 i 109.88 (1) The index number of prices at a place in 2008 is
: g Ded 23 355 with 2003 as base. This means

(20) From the year 2013 to 2023, Consumer price wai \Enelstiestbinion Mia gy #2557
index number is increased from 135 to 180. IncredsipRe:
During this period, salary of the employees as per s iEheges becn nufie Kobrage o8 35%
day commission recommendations was revised ke R e
from ¥ 23,000 to ¥ 29,500. In real terms, an 5 Therehasbeen s sl
employee should get following additional d bl
amount (upto nearest whole number) to TGRS
maintain his previous standard of living
a. Z1,168 b. 666
C <909 d %6500

ude Edition 4 CA. Pranay Popat
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MTP Nov 19
The Paasches and Fishers index numbers are 169
and 156 respectively, then Laspyre’s Index
number is

a. 144 b 152
¢ 148 d. 1515
MTP May 20

The Paasches and Fishers index numbers are 169
and 156 respectively, then Laspyre’s Index
number is
a. 144 b. 152
¢ 148 d. 1515

MTP May 20
The whole sale price index number or
agricultural commodities in a given region at a
given date is 280. The percentage increase in
prices of agricultural commodities over the base

year is:
a. 380 b. 280
¢t w180 d. 80
MTP Nov 20
During the certain period the C.L.1. goes up from
110 to 200 and the Salary of a worker is also .
raised from 330 to 500, then the change in real
terms is :
a.  Lossby<50
b. Lossby375 L
e Loss by X 90 | . i
d None of these i
In year 2005, the whole salc prtcc mdcx number
is 286 with 1985 asbase e year, thén how much the
 prices have incr s 3
19957 ;
a.  286% ‘b 386%
c i/ 8% Y d 186%
~ MTPMarch21
~ The prices of commodlty in the year 2015 and
2020 were 25 and 30 respectively taking 2020 as
base year the price relative is
a.  109.8 b. 110.25
c. 1375 d. 8333
MTP March 21
For year 2015, price mdex was 267% with base
year 2005. The percentage increase in price index
over base year 2005 is:
a.  267% b. 67%
C. 167% d. None of these

e ey e AT ANALS

i
{ TR
f’ RE—

)

(10)

(11)

(12)

(14)

(15)

roer
RS a

MTP Apr 21
% in prices. The rise in wages
is 20% then the real wage has increased by
a 20% b. 10%
‘ Less than 10%  d.  More than 20%,

MTP Apr21

The cost of living index numbers in years 2015
and 2021 were 97.5 and 115 respectively. The
salary of a worker in 2015 was % 19,500. Hoy

much additional salary is required for him iy
2021 to maintain living standard of 20152

If an increase of 10

C.

a. 3000 b. 4000
c. 3500 d. Z4500
MTP Nov 21/ MTP Sep 241

If Laspeyre’s index number is 250 and Paasche’s
index number is 160, them Fishers Index is

a 200 b 120
c. As0 d 170
: : MTP Nov 21

If the price of a commodity in a place have

‘decreased by 30% over the based period places,

then the index number of that place is
a. 30 b. 60

p 'c. 70 d. 80

MTP Oct 21
From the following data for the 5 groups
combined

Group Weights | Index no
Food 35 425
cloth 15 235
Power & Fuel | 20 215
Rent & Rates 8 115
| miscellaneous | 22 150
The general Index number is
Ao 270 b. 269.2
£ oup 208.5 d. 2725
i . MIPOCt2

If, IRQ,=1360 , £PQ =190 ,
XPQ, =1880 then the Lasperey’s Index is

a. 71 b. 139

i ] ~d. None of these

b8 AR Ry o MTPOCtZI
The consumer price Index _for April 1985 was
125. The food price index was 120 and other
items index was 135. The percentage of food out

of the total weight of the index is
a.  66.67 b. 68.28
¢ 90.25 d.  None of these




e —————

i Index Numbers

MTP Oct 21

monthly salary of an employee was Z 3000

0 1‘1 930. The consumer price index number in
i ¢ i 250 with 1980 as base year. If the has to

198 Hy mmpcncatcd then, 7t dearness

be righ ~tobe paid to the employee is:
uow“"; 50000 b.  ¥4,700.00
+4,500.0 d.  None of these.
MTP Mar 22

index mber for the year 2012 taking 2011
7 —— from the data given below by

as the ol average of price relative method is
ng S B {:C. 4D VE
108 | 95 |85 |90
125 | 117 { 108 | 95 | 95
5 e

120 d 111
’ MTP March 22
¢ a business executive was earning
(18) i{ 2 050 in the base period. What should be his
i the current period if his standard of

livin, ey,
I
szezwe b. %2906
¢ 2106 d. %2306
M'IPMarcﬁ'Zz
(19) Find the Paasche’s [ndex number for Pnﬂ% 5,
from the following _«:_,v
" Commodity | Base Year | Cuirrent Year |
P 10 S T
A 1 6
B 3 415N,
& 4 ”8 .
a. 261.36 2 b 26548
27432 f‘  "*‘~ L
MTP June 22

(20) The simple index number for the current year

D using simple aggregate method for the following
% data

Commodity | Base year Current
base Price (P0) | Year Price
(P1)

Wheat 80 100
Rice 100 150
Gram 120 250

| Pulses 200 300

a 200 b. 150

¢ 240 d. 160

Hrptr e

glsto,emmnthesamﬂGwenZW 25 4@

21)
A

22)
B

MTP June 22
The cost-of-living index number in year 2015
and 2018 were 97.5 and 115 respectively. The
salary of CA Jitendra in 2015 was 195000. How
much additional salary was required for him in

2018 to maintain the same standard of living as
in 20157

a. 35,000
b 40,000
c. 35000
d 45,000

MTP Dec 22 — Series I
Consumer Price Index Number goes up from
100 to 200 and salary of a worker is also raised

3¢ from 300 to 500, then Real Wage is

(23)

x>

(25)

(26)

CA. Pranay Popat

a. 300
C. 600 :

b. 250
4. 350
MTP Dec 22 - Series I

iIn the data group, Bowley’s and Laspyre’s index

number s as follows. Bowley's index number is
1503 Laspyre s index number is 180 then.

Paasche’s index number is
a 120 b. 30
W 165 d. None of these

MTP Dec 22 — Series I
The prices and quantities of 3 commodities in
base and current years are as follows:

By P Q Q,
12 14 10 20
10 8 2057 30
8 10 30 10
The Laspyre’s Price Index Number is:
a. 11813 b. 107.14
ce v 12010 d. None of these
: ~ MTP Dec 22 Series IT

The cost of ltvmg index number in year 2015 and
2018 were 97.5 and 115 respectively. The salary
of a worker in 2015 was 19500. How much
additional salary was required for him in 2018 to
maintain the same standard of living as in 2015?
a. 3000 b. 4000
c. 3500 d. 4500
 MTPJune2023 SeriesT'
From the followmg data constructed the index
number by Laspeyre’s method

3P0, =100,3RQ, =86,
ZPoQo =83'ZP1Q0 =106
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a. 130.36 b. 131.51

27)

28)

29)

(30)

(31)

(32)

. base 2012 will be:

(33)

814

C. 130.59 d 127.71
MTP June 2023 Series 1
If Fisher's index = 150 and Paasche’s Index =
144, then Laspeyre's index is
a. 147 b. 156.25
G 104.17 d. 138
MTP June 2023 Series I
If Laspeyers index is A and Fisher’s index is B.
Find the value of Passche’s index
a B’/ A b. A’/B
C Al2B d. 2B/A
MTP Dec 2023 Series I
XPQ, =1360,2P.Q, =1900
2PQ, =1344,3.P.Q =1880then the
Laspeyres Index number is
ol 1 b=wd39.70
& 175 d. None of these
: - MTP Dec 2023 Series I
If Laspyres Index number is 250 and Paasches
Index number is 160, then Fishers Index number
a. 200 b. 400
ch =5 d. 196

MTP Dec 2023 Series I -
Y Zpa,=249,3p,q, =150 Paasche’s Index
Number=150 and Dorbish and Bowely’s Index .
number =145, then the Fisher’s Ideal Index

Number is 8

a. 175 b 14491
c. 145.97 d. None of these

~ MTP Dec 2023 Series IT
If the 2018 index with base 2015 is 250 and 2015
index with base 2012 is 150, the index 2018 on

a. 800 L b 375
c. 600 " d. Noneof these

. MTP Dec 2023 Series IT
In 2017 the average price of a commodity was
20% more than in 2016 but 20% less than in
2015; and more over it was 50% more than in
2018 to price relatives using 2016 as base (2016
price relative 100)Reduce the data is:
a. 140, 100, 120, 80 for (2015-18)
b. 150, 100, 120, 80 for (2015-18)
(i 135, 100, 125, 87 for (2015-18)
d. None of these

(34)  From the following data

(35)

(36)

L (37)

(38)

(39)

: ‘ |
id o - -
£ ————— e —
s TR
P AT e MY vs‘-hj

MTP Dec 2023 Series 1

Group AadiBy 4G S EFSME NLP
Group 120|132 | 98 | 115 | 108 | 95
Index
Weight 6 |3 | S 1 o4
The general Index (1) is groen by:

a. 123.25 21715
5 111.30 d. None of these
MTP Dec 2023 Series Ij

Consumer price index number goes up from 110
to 200 and the Salary of a worker is also raiseq
from ¥ 33,000 to Z.50,000. Therefore, in req]
terms, to maintain his previous standard of
living he should get an additional amount of: -

a. <8500 b. 10,000
c. 9B d.  None of these
' * MTP June 24 Series [

In>the data group Bowley's and Laspeyre’s index
number is as follows. Bowley’s Index number=
150, Laspeyre’s index number = 180 then

Paasche’s index number is:
a. 120 b. 30
Caope 165 d. None of these
MTP June 24 Series I
If Fisher's index = 150 and Paasche’s Index =
144, then Laspeyre’s indexis ____
a. 147 b. 156.25
c. 104.17 d 138
MTP June 24 Series I

Monthly salary of an employee was ¥ 10,000 in
the year 2010 and it was increased to 220,000 in
the year 2023 while the consumer price index
number is 240 in year 2023 with the base year
2010, what should be his salary in comparison of
consumer price index in the year 20232

a. 2,000 b. 16,000
¢ 24,000 d.  None of these
MTP June 24 Series I1

The consumer price index in 1990 increases by
80 per cent as compared to the base 1980. A

person in 1980 getting T 60,000 per annum
should now get

a.  ¥1,08,000 per annum

b. < 82,000 per annum
¢ 264,000 per annum
d. None of these
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MTP June 24 Series Il 0. 285 b. ¥90.91
0 If ZPQ, = 1360,%.P.Q, =1900, ¢ . ¥95.25 d. None ;{1 t;lesffes "
5:PQ, =1344,5.P,Q, = 1880, then the | , R o and
Laspeyre’s Index number is (47)  The prices of a commodity m'the year. 1980
: b 13970 s 1980 were 25 and 30 respectively taking as
> 2175 d' 18 O. base year the price relative is :
C :
MTP June 24 Series Il i ;‘;g ;z Z’ ;;0355
(1) The index number of prices at a place in 2008 is = ; Anstver Key. , '
355 with 2003 as base. This means - 3 ‘ 7.7 3 a
a.  There has been on the average a 255% 5 Er oy G ol
increase in prices. d 3o 9 ¢
b. There has been on the average a 355% . 11 -a 12 ¢
increase in price. b 14 b it g
c.  There has been on the average a 250% % 17 d 18 b
increase in price. o 20 d 21 a
d.  None of these , ) 23 a 24 b
: ~ MTP Sep 24 Series I 4 26 d 27 b #
@) Y.PQ,=1360, Y,P,Q,=2000 , then the i B9 b 30 a
Laspeyres Index number is: ) 32 b 33 b
a. 71 ’ b. 147.50 i C 35 b 36 a
P [ dmgosne o,; ;h;s;ws . b 38 ¢ 39 a
ep ; 41 b 42 b
(43) If the prices of all commodities in the base ye / : 4 b 45 ¢
>t are twice the values of the respective commaodities b 47 d

in the current year, then the Fisher's ideal 1

number is equal to: :
a. 200 b. 5048 :
c. 400 d. 2§ =

(44) If the index number of prices ata place in 2018 is
280 with 2008 as base year, then the prices have
increased on average by.. ;

o  280%48 . 180%

P 380%w 'd. None of these
~ Slw  MTPSep 24 Series Il
(45) In 1980, the net monthly income of the employee

was T 800/- p. m. The consumer price index
number was 160 in 1980. It rises to 200 in 1984.
If he has to be rightly compensated. The
additional D. A. to be paid to the employee is

a.  Z175- b. 2185/
¢ 2200- d. ¥125/-
: MTP Sep 24 Series IT

(46) Consumer price index number goes up from 110
to 200 and the Salary of a worker is also raised
from ¥ 325 to ¥ 500. Therefore, in real terms, to
maintain his previous standard of living he
should get an additional amount of:




